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If you have not marked the Test Booklet Series at Part C of side 1 of the Answer Sheet or
marked in a way that it leads to discrepancy in determining the exact Test Booklet Series,
then, in all such éases, your Answer Sheet will be invalidated without any further notice.
No correspondence will be entertained in the matter.
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Each question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than one
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black marks to fill the circle completely. Make no other stray marks.

58 (S5 TenDd SArTrRhve) Bipdi. eoté® SBaHIH e JYSTR SArTd HEnS’ [ Terancdd
B DT O NOTIBRY. &8 T m;aggg: B0k 20, & TR HB0sNS. 000
IO BT 68 00HeH /258 276 D00 R TEEBRD. SRS rothen DT,

e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :

aae : [59) Ak, 1550 Sogg 1 8 e (2) ®odPped TrAR e (508 GBI H80IHBR :

11 O@|O|®
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Which is under nervous control?

(1) Adrenal cortex
(2) Adrenal medulla
(3) Posterior pituitary

(4) Anterior pituitary

Hormones produced in allergic reactions
i8

(1) Glucocorticoid
(2) Mineralocortcoid
(3) Norepinephrine

(4) Epinephrine

How many sperms are produced from
one primary spermatocyte?

(1) 8
2y 6
3 2
4 4

Freshly released human egg has
(1) One Y-chromosome
(2) One X-chromosome
(3) Two X-chromosome

(4) One X-chromosome and one
Y-chromosome

LD/717

Dopamine neurons are connected with
syndrome i

(1) Morton's syndrome
(2) Parkinsonism
(3) Schizophrenia

(4) Both (2)and (3) -

‘In mammals, the embryo begins to grow

(1) Soon after implantation
(2) Soon after fertilization
(3) During descent

(4) Only after formation of placenta

A cross between offspring and recessive
parent is

(1) Monoh_yb‘rid Cross
(2) Back cross
(3) Test cross

(4) Reciprocal cross

ABO blood grouping shows

(1) Codominant genes

(2) Polygenes

(3) . Dominant-recessive genes

(4) Both codominant and dominant
recessive genes
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10.

11.

12.

A homozygous pure white haired animal
is crossed with homozygous black haired
animal. The offspring would be

(1) 50% White haired animals
(2) 50% grey haired animals
(3) All white haired animals

(4) All grey haired animals

Allelomorph implies

(1) A pair of contrasting characters

2 A pair of
characters

non contrasting

(3) Any two characters
(4) Sex-linked characters

Colour blind man marries a normal

- woman whose father was colour blind.

What percentage of children is expected
to be colour blind?

(1) 25%
(2) 50%
3) 75%
(4) 100%

Genome represents

(1) Haploid chromosome set
(2) Complete chromosome set
(3) Diploid Chromosome set

(4) All the genes present in the
population

13.

14.

15.

16.

D717

Mongolism is due to

(1) Extra X-chromosome
(2) Extra 21st chromosome
(3) Extra Y-chromosome

(4) Deficient sex chromosome

Cornea and lens of eye are

(1) Transparent and help in image
- formation on retina

(2) Transparent and diverge light rays
on retina for image formation

(3) Sensitive and richly supplied by
nerves -

(4) Sensitive and richly supplied -by
- blood vessels

Vitamin excreted by urine in higher
vertebrates is

(1) A
(2) D
3) C
4) K

Which of the following enzyme is
produced in the kidney?

(1) Rennin
(2) Pepsin
(3) Uricase

(4) Arginase
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19.

20.

17.

18.

In Ornithine cycle, enzyme arginase
breaks down arginine into '

(1) Citrulline and ammonia

(2) Ornithine and ammonia
(3) Ornithine and urea

(4) Citrulline and urea

ATP formation in mitochondrion 1is
explained by

(1) Cholodny-went model
(2) Chemi-osmotic theory of Mitchell
(3) Munch’s mass flow theory

(4) Relay pump theory of Godlweski

In micturition

(1) Ureters contract
(2) Urethra contracts
(3) Urethra relaxes

(4) Ureters relax

Mammalian erythrocytes have short life
span due to absence of

(1) Endoplasmic reticulum

(2) Mitochondria

(3) " Nucleus

(4)  Golgi complex

(8)

21.

22,

23.

Erythropoiesis is assisted by

(1) Mg
&0
(3) Cu*
(4) Fe*

Rh factor can produce

(1) AIDS

(2) Erthroblastosis foetalis
(3) Turner's syndrome

(4) Sickle cell anemia

Pylorus is surrounded by

muscles called as

(l) Gizzard muscles

(2) Pyloric sphincter muscle
(8) Crop muscle

(4) Musculoris externa

LD/717
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25.

26.

27.

Foetus in mammals is surrounded by

(1) Placenta
(2) Blood vessels
3) Yolk

(4) Uterus

Zona pellucida degenerates

(1) Before cleavage

(2) Before fertilization

(3) After complétion of Cleavage

(4) Mid way during cleavage

Spiral Cleavage is found in
(1) Annelids

(2) Reptiles.

(3) Birds

(4) Insects

Solid blastula is known as
(1) Disco blastula

(2) Superficial blastula

(3) Stero blastula ?

(4) Coeloblastula

(10)

28.

29,

30.
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Typhlosole of earthworm is a device for
(1) Extra secretion of digestive juice
(2) Crushing of food

(3) Increasing absorptive area

(4) Slowing down passage of food

G.reen house effect is related to
(1) Increased growth of algae
(2) Development of Gardens
(3) Global warming

(4) Cultivation of vegetable gardens

The circulation or cycling of elements in

an ecosystem is known as

41y Geolog.ical cycling

" (2) Chemical cycling

(3) Geo Chemical cycling

(4) Bio-Geo chemical cycling
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32,

33.

34,

C0; and O: balance in atmosphere is
due to

(1) Photosynthesis

- (2) Respiration

(3) Leaf anatomy

(4) Photorespiration

Protein deficiency diseases is known as

- (1) Scurvy

(2) Addison’s disease
(8) Kwashiorkor

(4) Pellagra

Insulin is secreted by

(1) Alpha cells of pancreas

(2) Beta cells of pancreas

48 Gamma cells of pancreas

(4) Acini of pancreas

Paneth ce]ls are found in
(1) . Crypts of Liberkuhn
(2) Peyer's patches

(3) Islets of langerhans -

(4) Gastric glands

(12)

| 36.

37.

38.

LD717

35. Trypsin digests protein in

(1) stomach in acidic medium
(2) stomach in alkaline medium
(3.) duodenuim in acidic medium

(4) duodenum in alkaline medium

Fats are absorbed

(1)' As such

(2) After emulsification
(3)_' After hydrolysis

(4)  After digestion

During hibernation, frog performs

(1) Pulmonary respiration

(2) Cutaneous respiration
(3) Buccopharyngeal respiration

(4) Both cutaneous and pulmonary
respiration

Respiratory quotient is not less than one
in :

(1) Carbohydrates
(2) Proteins
(3) Fats

(4) Normal diet
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39.

40.

41.

42,

Oxygen dissociation curve of
haemoglobin is

(1) sigmoid

(2) hyperbolic

(3) linear

(4) hypobolic

Man is superior to other animals mainly
due to

(1) erect posture

(2) free forelimbs

(3) large brain

(4) front eyes

During impulse transmission nerve

permeability increases for

(1) Na
@ Cr
(3 K
(4) Ca*

What is pygostyle?

(1) Fusing of thoracic vertebra
(2) Fusing of caudal vertebra in birds
(3) Fusing of neck vertebra

None of the above

(4)

(14)

43.

44,

45.

46.

(D
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Gigantism and acromegaly are two

defects produced due to improper
functioning of

(1) Thyroid

t?.} Pituitary

(3) Thyroid and pituitary

(4) Thyroid, pituitary and thymﬁs

Human placenta is

(1) Haemochorial

(2) Syndesmochorial
(3) Yolk sac

(4) Haemoendothelial

Parasitic mode of nutrition occurs in

(1) Amphibian embryo
(2) Mammalian embryo
(3) Avian embryo

(4) Reptilian embryo

Pollutant of automobile exhaust that
affects nervous system produces mental
diseases is

Mercury
(2) Lead
(3) © Nitrogen oxide
(4) Sulfur oxide
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47.

48.

49.

50.

(4) Calcutta

Taj may be damaged by
(1) Flood in Yamuna

(2) Temperature mediated spoilage of
marble _

(3) Air pollutants from Mathura
refinery :

(4) All of the above
is due

Acid rain to increasing in

atmospheric concentration of
(1) Ozone and dust

(2) CO,and CO

(3) SO;and CO o

(4) SO, and NO,

(16)
Carbon monoxide is pollutant as it 51.
(1) inactivates nerves
(2) inhibits glycolysis
(3) combines with oxygen
: (4) combines with Haemoglobin
The most polluted city of the world is
(1) ﬁew York
(2) Tokyo -52.
(3) ) Mexico

53.
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Chief source of soil and water pollution
is

(1) Mining

(2) Thermal power plant
(3) Agro industry

(4) All of the above
Which found in

one is higher

concentration in the atmosphere?
(1) Ogzone
(2) Nitrogen oxides

(3) Carbon dioxide, carbon monoxide

and sulphur dioxide

(4) All the above

Compound soluble in water which does

not impede oxygen transportation is

(1) SO,
(2) 80,
{3 eo
(4 NO
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54.

55.

56.

57.

(18)

In which phylum trochophore larva is
found?

(1) Arthropoda
(2) Coelenterata
(3) Annelida

(4) Echinodermata

Which larva shows neotony?
(1) Tadpole larva

) Axolotl larva

(3) Bipinnaria larva

(4) Tornaria larva

Which of the following is Echinodermata
larva?

(1) Bipinnaria larva
(2) Echinopluteus -
(3) Auricularia

(4) All the above

Ventrally placed gill slits are se;an in
(1) Exocoetus

(2) Clarius

(3) Raa

(4)  Anguilla

58.

59.

60.

LD/717
Which is the longest animal in
coelenterate?
(1) Millipooda

(2) Kyrosalmon

(3) Sainaia arctika

- (4) Caironex

What is called as apiculture?
(1) Growing silk worm

(2) Growing flower plants
(3) Growing honey bees

(4) Growing pearls

The inner lining of uterus is called
(1) Follicular waﬁ |

(2) Endometrium .

(3) Ectometrium

(4) Inner wall
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61.

62,

63.

64.

Which gas of the atmosphere hold up
ultraviolet radiation?

1y Co,
@ - 0
8 0,
@ N,

Ozone shield is component of
(1) Tropohosphere

(2) Stratosphere

(3) Mesoéphere

(4) Thermosphere

Which factor maintains the distinctive
traits of species? :

(1) Specific niche
(2) Cooperative interaction’
(8) Reproductive isolation’

(4) Courtship

(20

Amount of carbon fixed annually | 65.
‘through photosynthesis is
(1) 7x10"%Kg
(2) 4.6x10"°Kg.
(3 7x10"Kg
(4 46x10"Kg

66.

67.

68.

LD/717

Energy flow in an ecosystem is .

(1) Multidirectional
(2) Unidirectional
(3) Bidirectional

(4) All the above

Scrotal sacs of man and rabbit are

connected with the abdominal cavity by
(1) Inguinal canal

(2) Vagina cavity

(3) Haversian canal

(4) _ Spermatic canal

Sertoli cells are found in
(1) Seminiferous tubules
(2) Germinal epithelium
(3) Cauda epididymis

(4) Caput epididymis

Site of fertilization in a mammal is

(1) Ovary
(2) Uterus
(3) Vagina

(4) Fallopian tubes
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69.

70.

11

72.

(22)

Percentage of Syndromes increases in

the offspring of a lady over 40 years. It is
because :

(1) oocyte grows older
(2) ovaries are weak
(3) placenta is weak

(4) lady becomes weak

Menstrual cycle is controlled by

(1) Estrogen and progesterone of
ovary

(2) FSH and LH of pituitary
(3) Both (1) and (2)

(4) FSH of pituitary only

Leuteal Phase is the other name of
(1) Follicular phase

(2) Menstrual flow phase

(3) Proliferate bhase

(4) Secretary phase

The functional mitochondria in sperm is
(1) To control the movement of sperm

(2) To provide energy of movement of
sperm

(3) © To provide energy to nucleus

(4) None of the above

73.

74.

75.

LD/717

Expanded proximal part of oviduct in

female is

(1) Uterus

(2) Fallopian tube
(3) Infundibulum

(4) Vestibule

Gestation period of 280 days 1is

calculated from time of
(1) Last menstruation
(2) Fertilization

(3) Next menstruation

(4) - Puberty

The delivery of child or child birth is

" called

(1) Labour
(2) Parturition
(3) Implantation

(4) Insemination

T e g — ey sk
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76.

77.

78.

79.

The embryo cleavage brings about

(1) Increased DNA content

(2) Increased mass of protoplasm

(3) Increased size

(4) Change in shape and size

Chemical transmission of nerve impulse -

from one neuron to another or from a
neuron to muscle by

(1) Cholesterol
(2) Cholecystokinin
(3) ATP

(4)  Acetylcholine

The smallest worm like blind, non
poisonous snake in India is

(1) Python.
(2) .'Rat snake
(3) Typhlops

(4) Green snake

Osmore.gulation is a part of
(1) Osmosis

(2) Homeostasis

'(3) Excretionof CO2 =’

(4) Hemostasis

(24)

80.

81.

82.

83.

LD/717

Which of the following structures is
present only in animal cell?

@)

(2
(3)

" @

Cell membrane
Lysomes
Centrioles

Ribosomes

Which is not a green house gas?

(1)
(2)
(3)
(4)

&
(.2)
3
(4)

CFC

CH.

COz

H:

The largest flying bird

Ostrich
Indian vulture

Great Indian Bustard

| Albatross

The number of sanctuaries in India is

(8]
(2)
(3)

(4)

368

450

260

168
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84,

85.

86.

87.

Valley of flowers is found in

(1) Nilgiri hills

(2) North eastern Himalayas
(8) North western Himalayas

(4) Satpura hills

Red colour of blood of earthworm is due

to

(1) RBC

(2) Porphyrin

(3) Intracellular hémoglobin

(4) Intercellular hemoglobin

Which ecosystem 1is. not variations
dependent irrespective . of geographic
location and rainfall?

(1) Marine ecosystem

(2) Freshwater ecosystem

(3) Desert ecosystem

(4) Tropical ecosystem

Biome represents

' (1} All the organisms of the earth

(2) Flora of a land
(3) Flora and fauna of langd

(4) A major ecosystem delimited by
climate or geography

(26)

88.

89.

90.

LD/717
Food chain in which microorganisms

break down the food formed by the
primary producers is

(1) Parasitic food chain

(2) Detritus food chain

(3) Consumer food chain

(4) Predator food chain.

Maximum human population can be
supported if all the human are

(1) carnivorous
(2) pure vegetarian
(3) vegetarian along with use of milk

(4) vegetarian along with use of milk
and eggs

The pyramid which cannot be inverted
in a stable ecosystem is that of. '

(1) Biomass

(2) Acrobiosis

(3) Psamophytes

(4) Biological magniﬁcation
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|1 91.

92.

93.

94,

95.

~ Which

A matured graffian follicle without egg
1s called

(1) Follicle

(2) Fallopian Tube
(3) Corpus leuteum
(4) Uterus

Which nitrogen base pair is not present
in DNA?

(1) * Uracil

(2) Guanine
(3) Thymine
(4) Cytocine

Which animal is having salt gland?

(1) Dolphin
(2) Sea gull
(3) Sea fish
(4) Estuarine fish

codon terminates protein
transcription?
(1) UAA
(2) UGA
(3) UAG
(4) All the above
What are prokaryotes?
(1) Animals without nucleus
(2) Animals without nuclear
membrane A
(3) Unicellular animals

(4)

Animals with nuclear membrane

(28)

96.

97.

98.

99.

100.

LD/717

Entameoba belongs to which class

(1) Telosporia

(2) Rhizopoda

(3) Actinospodoria
(4) Haplosporia

In which female animal there is a
heterologous chromosome

(1) Hen

(2) Calotes
(3) Frog
(4) Rat

In starfish which organ cleans the body
wall?

(1) Pedicellaria
(2) Jaws

(3) Papilla

(4) Tube feet

Ink gland is a defense organ for which
animal

(1) Scaphopoda
(2) Pelicipoda
(3) Cephalopoda
(4)

Apoda-

Which cells are totipotent in Aurelia?

(1

Nerve cells

(2) Mesodermal cells
(3) Choanocytes
(4) Epidermal cells
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101.

102.

103.

104.

105.

(30) LD/717

Which type of circulation is seen in fish? 106. In which animals do you find
: 2
(1) Double circulation centrolecithal egg? .
1) 1 L
(2) Alternate circulation Ly Beseiacel
. . (2) Birds
(3) Incomplete circulation
: (3) Reptiles
(4) Single circulation
(4) Mammals
Vitamin D deficiency cause the disease $B%: Ciotter i caused by
B Risis (1) Lack of thyroxin
(2) Nictolopia (2) Lack of iodine _
(3) Ostiomalacia (8) Lack of mineral supplements in
(4) Bery bery the diet
(4) Throat infection
In which animal Nephromixia are seen _
) Hiradinasia 108. Hormones differ from enzymes in being
@ TPolychssta (1) Found in plants only
. : . 1
(3) Oligochaeta (2) Found in animals only
_ s S (3) Used up in metabolism
(4) Archiannelida
- (4) Not used in metabolism
Flame cells are seen in i 8
109. Which vitamin is present in carotene?
(1) Protozoa
. (1) B
(2) Annelida @ C
(3) Platyhelmenthis 3) A
(4) Mollusca 4 K
Chick egg 1s called as 110. Liver stores food in the form of
(1) Cledoicegg (1) Glucose
(2) Microlecithal (2) "Amino acids
(3) Alecithal (3) Cellulose
(4) Mesolecithal (4) Glycogen
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111;

112.

113.

114.

115.

Which is not under the control of
pituitary?

(1) Thyroid

(2) Adrenal medulla
(3) Adrenal Cortex
(4) Testis

In frog gonado trophic hormone is
produced by

(1) Ovaries

(2) 'Testis

(3)  Pituitary

(4) All the above

Birds which fly fast are
(1) Swan and goose
(2) Swift and falcon
(3) Eagle and sparrow
(4) Vulture

The golden age of reptiles is
(1) Coenozoic

(2) Paleozoic

(3) Archeozoic

(4) Mesozoic

Crepuscular animals

(1) Animals which are active -during
dusk and dawn

(2) Animals which are active during
night time

(3) Animals which are active during
day time g

(4)  Animals which are active through
out the time

(32)

116.

115,

118.

119.

120.

LD/717

Urostyle is part of

(1) Pectoral girdle
(2) Sternum

(3) Vertebral column
(4) Pelvic girdle

Hypo secretion of Glucocorticoids cause
(1) Tetanus

(2) Cushing syndrome

(3) Graves disease

(4) Addison’s disease

Peyer’s patch masses of lymphatic tissue
is composed of

(1) Group of arteries

(2) Group of veins

(3) Stinging tentacles

(4) Mass of lymphatic tissue

The sense of equilibrium is determined
by

(1) Basilar membrane of cochlea
(2) Tectorial membrane of cochlea
(3) Sensory crista of ampulla

(4) Sensory cells of organ of corti

Sensation of hearing is a result of
(1) Vibration of ear ossicles

(2) Nerve impulses from hair cells of
organ of Corti

(3) Vibrations in external auditory
meatus

(4) Vibrations in ear drum
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121, Perissodactyli present to this day

122.

123.

124.

125.

(1) Seal

(2) Elephant

(3) Mermaid

(4) Mangoose

Glomerulus and Bowman's capsule
consist of

(1) Kidney

(2) Renal capsule

(3) Henle's loop

(4) Internal glomeruli _

Phrenic arteries supply blood to

(1)
(2)
(3)
(4)

Heart muscles
Diaphragm
Lung muscles

Ribs

Dioptric apparatus is present in

(1)
(2)
3
(4)

In which animal double fovea are

Ear
Nose
Mouth
Eye

present

(1) the crow

(2) owl .
(3) kingfisher

(4)

duck

(34)

(1)
(2)
(3)
(4)

(D
2

(4)

of

(D)
(2)
(3)
(4)

(1)
(2)
3
4)

3)

126. Who is father of Eugenics?

Darwin
Mendel
Francis Galeton

Hugo Devris

127. Who discovered blood groups?

Karl Land Steiner
Buchner

Boveri
Kuhn

128. Difference  between sponge
metazoan
(1) Spqnges contain RBC
(2)  Division of labour
(3) Cell organization
(4) Cell division

amebocytes
germ cells
pinacocytes

chromocytes

Morula
Onchophore
Egg

Cysticercus

LD/717

and

129. The outer layer of sponges is composed

130. Transfer of taenia to secondary host
takes place at the following stage
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131. Difference between Taenia sagineta

132.

133.

134.

135.

from Tenia solium

(1) Hooks upon scolex

(2) Scolex

(3) : Suckers and the scolex
(4) Flame cells

Tracheal respiration differs from other

respiratory process as it helps to convey
the air directly to

(1) Tissues

(2) RBC

(3) Blood

(4) Plasma

How many times between hatching and

its complete development, the young
cockroach under goes ecdysis?

(1) Not more than 08 times
(2) 10-15 times

(3) 18-20 times

(4) More than 20 times

What is the function of alary muscles?

(1) Attaching to stomach

(2) Attaching tergum and sternum
(3) Attaching to book lungs
(4) Attaching the heart to the tergum

Organ of Bojanus is useful in

(1) Respiration

(2) Excretion .
(3) Defense

(4) Reproduction

(36)

136.

137.

138.

139.

140.

LD/717

Johnston's organ is present in the

(1)

“Antenna of mosquito

(2) Arista of house.ﬂy
(3) Wings of mosquito
(4) Abdomen of mosquito

Dragon fly larva is known as

(1) Nymph

(2) Grub

(3) Caterpillar

(4) Naid

Study of shell is known as

(1) Malacology '
-(2) Conchology

(3) Gemmology

(4) Saurology

What is sea-hare?

(1) Pila

(2) Sepia
(3) Torpeda
(4) Aplysia

Supra intestinal ganglia in Pila present:
on

(1) Cerebral Commissure
(2) Head
(3) Optic nerve
(4) Supra intestinal visceral
connective
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141.

142,

143.

144.

145,

Tentacles of Pila are
(1) Photo receptors
(2) Gastro receptors
(3) Tango receptors

(4) Thermo receptors

Cardiaé ganglia is made up of

(1) Giant cells ..

(2) Pace maker and follower cells
(3) Nerve cells

(4) Reproductive cells

Dental formula of man
(1) 2213/2213
(2) 1223/1223
(3) 2123/2123
(4) 2132/2132

Human female wurine contain which
hormone

(1) Estrogen

(2) Follicle stimulating hormone
(3) LH

(4) Progesterone

Which gland persist up to 16 years in
human beings? '

(1) Thymus

(2) Parathyroid

(3) Pituitary

(4) Sebaceous glands

(38)

146.

147.

148.

149.

150.
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When glucose molecule is completely
oxidized how many ATP are liberated?

(1) 32

(2) 36
(3) 38
(4) 48

Sesar Gir sanctuary is famous for which
wild animals

(1) Elephant
(2) Asiatic lion
(3) Tiger

(4) Wild dog

Who proposed sliding filament Theory?
(1) Huxley and Huxley

(2) Gent Georgia

(3) William Harway

(4) Dellinger

Sarcomere extends from which zone to
which zone in striated muscle

(1) Z to H Zone
(2) ZtoN Zone
(3) Z toZ Zone
(4) Z to M Zone

Which is a gastro intestinal hormone?
(1) Prolactin

(2) = Enterokinase

(38) Cholinesterase

(4) Secretin
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